	

	Major-Index VitaFutur for Vitality und Futurability

	Balance-Sheet: Assets (A = Actionals)
	Example
(Germany)
	New Country
New Contry
	Example
(Germany)
	Balance-Sheet: Liabilities (P Pressions)

	
	Index
	Score
Source
	Score 0/2
	Score
Source
	Score 0/2
	1, …
?!
	Score 
0/2
	Score Source
	Score 
0/2
	Score
Source
	Index
	

	HDI
	https://ourworldindata.org/happiness-and-life-satisfaction/#empirical-view
	
	http://databank.worldbank.org/data/reports.aspx?source=2&series=SI.POV.GINI&country
	Gini

	
	Overall Life Satisfaction  
	7,037
	1,41
	
	
	Major Index 
VitaFutur*


	
	
	0,87
	30,1
	Income Unequality
	

	WGI
	http://info.worldbank.org/governance/wgi/index.aspx#reports
	
	http://www.footprintnetwork.org/ecological_footprint_nations
	FP BC

	
	Wold Governance Index
	1,53
	1,61
	
	
	
	
	
	1,49
	
	Minus-Sustainability
	

	GCI
	http://reports.weforum.org/global-competitiveness-report-2015-2016
	
	http://hdr.undp.org/en/content/income-index
	HDI

	
	Global Competitiveness 
	5,5
	1,57
	
	
	
	
	
	1.83
	0,92
	Monetary and unpaid Input 
	

	GII
	https://www.globalinnovationindex.org/gii-2016-report
	http://static.visionofhumanity.org/sites/default/files/GPI%202016%20Report_2.pdf  
	GPI


	
	Global Innovation Index
	57,94
	1,16
	
	
	Example
	
	
	0,59
	1,49
	Global Peace Index Page10
	

	
	Se.; arithm. Medium (A)
	5,75
	1,44
	
	
	1,091
	
	1,20
	4,78
	Arithm. Medium (P); Se.
	

	

	



WGI
	World Governance Index
	Source
	0/2
	Source
	0/2
	*Calculation by Balance
Formula
	Minus-Sustainability: Calculation by Balance FP/BC
	


BC FP

	
	Voice and Accountability
	1,43
	
	
	
	
	http://www.footprintnetwork.org/ecological_footprint_nations
	

	
	Political Stability and Absence o f …
	0,72
	
	
	
	
	World
	
	new
	Germ
	
	

	
	Governement Effektiveness
	1,74
	
	
	
	
	1,80
	BC
	[bookmark: _GoBack]1,80
	1,80
	Aktiva (A) Bio-Capacity
	

	
	Regulatory Quality
	1,67
	
	
	
	Example
	New Country
	2,70
	FP
	
	5,30
	Passiva (P)  Footprint
	

	
	Rule of Law
	1,78
	
	
	A - P
	+0,24
	
	-0,90
	A - P
	
	-3,50
	*Calculation by  Balance-Formula: Measure 
  = 1 + ((A – P)/(A + P))
0 < Measure< 2,0
	

	
	Control of Corruption
	1,82
	
	
	A +P
	2,64
	
	4,50
	A +P
	
	7,10
	
	

	
	Se. / Arithmetisches Mittel
	9,16
	
	
	∆
	+0,091
	
	-0,20
	∆
	
	-0,49
	
	

	
	in den Grenzen von   -2,5 bis +2,5
	1,53
	
	
	1 +∆
	1,091
	
	1,20
	1 - ∆
	
	1,49
	
	

	
	in den Grenzen von   0 bis 5
	4,03
	1,61
	
	
	
	
	
	
	
	
	
	

	 
	
	
	
	
	
	
	
	

	Gini
0/2
	0,00
	0,10
	0,15
	0,20
	0,20
	0,25
	0,30
	0,35
	0,375
	0,40
	0,45
	0,50
	0,60
	0,70
	0,75
	0,80
	0,90
	1,00

	
	2,00
	1,80
	1,65
	1,40
	0,72
	0,79
	0,87
	1.00
	1,21
	1,42
	1,55
	1,68
	1,76
	1,84
	1,92
	1,97
	1,99
	2,00

	Schritt
	20
	15
	15
	Kippe
	7
	8
	13
	21
	21
	13
	13
	8
	8
	8
	5
	2
	1
	



